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Please check that this question paper contains 11 printed pages.

{?“dﬂ number given on the right hand side of the question paper should be written on the
title page of the answer-hook by the candidate.

Please check that this question paper contains 27 questions.
Please write down the Serial Number of the question before attempting it.

15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 am. From 10.15 am. to 10.30 am., the students will read the
question paper only and will not write any answer on the answer-book during this period.
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1eral Instructions -

(1)

(if)

(iii)

(iv)

(v)

(vi)

(vii)

There are total 27 questions and four sections in the question paper. All questiong
are compulsory.

Section A containg questions number 1 to 5, very short answer type ?“ﬂﬂfﬂﬂﬁﬂ"
one mark each.

Section B contains questions number 6 to 12, short answer tvpe-I gquestions of twg.
marks each.

Section C contains questions number 13 to 24, short answer type-Il questions of
three marks each,

section D contains question number 25 to 27, long answer type questions of five
marks each.

There is no overall choice in the question paper, however, an internal choice is
provided in two questions af one mark, two questions of two marks, four guestions

of three marks and all the three questions of five marks. In these questions, an

examinee is to artempt any one of the two given alternatives,
Wherever necessary, the diagram drawn should be neat and properly labelled.
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At what stage does

1.hE- 1'“E'i[ =]
. 515 OCCur in an et A :
and mention the fate of the proguets s udurgzmhm exhibiting haploidic life cvele

: 5 produced.

5
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Write the num _ 1
ber of chromosomes body cells of honey bee workers #nd drone have.
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/}Vhﬂ.t are ‘flocs’, formed during secondary treatment of sewage s
OR

Write any two places where methanogens can be found.
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e
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fm the layer of the atmosphere that is 8s50C
| OR

sed to describe 3 population i

sated with ‘good ozone’.

nteraction between an orchid growing
Mention the term u
on a forest tree.
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It is said ; b ann Th .
said apomixes i a type of asexual reproduction, Justify.
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Mention four significant services that a healthy forest cCosysten provide,
OR

Substantiate with the help of one example that in an ecosysteml mutualists (1) tend @

co-evolve and (ii) are also-one of the major causes of biodiversity 1058

8- mmﬂwwmqwmmwﬂmml 1

Write the steps in Sequence as carried in multiple ovulation embryo transfer technology,

R |
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What is an origin of replication in a chromosome 7 State its function.
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List any four ways by which GMO's have been useful for enhanced crop outpuL.
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How 18 & continuous culture system miaintained in bioreactors and why 7
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I Bee keeping practice is g good income generating industry. Write the different points
to be kept in mind for successful bee keeping. Write the scientific name of the most
common Indian species used for the purpose.
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nm mll
plication with the help of a replication fork, What

Explain the mechanism of DNA re

" role does the enzyme DNA-ligase play in a DNA replication fork 7

OR
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> “RNA molecule”
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r

L) ?H".I'III-E.' two differences between Homo erectus and Homeo hahilis.

_ (b - Rearrange the following from early to lute geologic periods :

Carboniferous, Stlunan, Jurassic.
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p—

List six advantages of “ex-sifu™ approach to conservation of biodiversity,
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Effluent from the primary treatment of sewage is passed for secondary treatment,
Explain the process till the water is ready to be released into natural water bodies.
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(a) @ O 1 A Feftre forerd 21 anfersd it o |

(b) canferer-A’ ) & mé fafi 38 AT~ AT T o 61 S @i @ 7

(c) ‘arfer-B’ i wurd faftem form s 1 7

Two children, A and B aged 4 and 5 years respectively visited a hospital with a similar
genetic disorder. The girl A was provided enzyme-replacement therapy and was
advised to revisit periodically for further treatment. The girl, B was, however, given a

therapy that did not require revisit for further treatment.

_ (@ Name the ailments the two girls were suffering from 7
__(BY” Why did the treatment provided to girl A required repeated visits
_ (g)~"How was the girl B cured permanently 7 e
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Draw a labelled din
. : ; .
BETAM 10 show tnierrelationship of four sccessory ducts in o human

male reproductive system;

OR

e’ ﬁraw a secti ' ;
ectional view of the human ovary showing the different stages of developing

follicles. corpus luteum and ovulation,
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(a) FUH. Ao g EEITEET HEmntet T R T HE wa % S & W
I BT TETTHE HeTAAT Ay g o s Hifa |

(b) UFGE T2elde g A ATAHY ST Fi Ay fefEw |
\’JZEI:(p—Bm in any three ways the chromosomal theory of inheritance as proposed by
Sutton and Bovery with that of axperimental results on pea plant presented by Mendel.
OR
Explain linkage and recombination as put forth by T.H. Morgan based on his
observations ﬂﬁ-ﬁqﬁgﬂﬁﬂ!hﬂ&ﬂﬁr crossing experiment.
#ritﬁ the basis nnwhrr:h Alfréd Sturtevant explained gene mapping.
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Describe the formation of recombinant DNA by the action of EcoR1L.
OR

Describe the process of amplification of “gene of interest” using PCR technigue:
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(a)” Match the microbes listed snder Column-A with the products mentioned e
—" Column-B.
Column— A Column - B
(H) Penicillium notatum ()  Staun
(I Trichoderma polysporwin (i1) gthanol
gy Monascus PUPHIES (i) antibiote
(K) Saccharomyces cerevisiae V) Cyclosporin-A
]
| Jp/ Why does «gwiss Cheese’ da?ﬂuPll:ﬁ’W ‘
| «111/3
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with the help of an example each,

23 (@

(b)

(a)
(b)
(c)
(8]

e

L=

(b) ~Name the hormo

Aant 4 B 3 .
ant levels of biological arganisation showing biodiversity
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Differentiate between spnrmamgcnmis and Oogenesis on the Dasis af

@y Time of initiation of the process
s ion of the process
iy Site of completion 0 y
i1 Nature of meiotic division undergone by gamete mnthﬁrlau .
s ey and stale their role involved in controlling spermatogenEsi
p
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, double fertilization in 405
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What is “population” according to you as a biology studeat 7

“The size of a population for any species is not a static parameter.” Justify the
statement with specific reference (o fluctuations in the population density of a
region in a given period of time,

OR
What is hydrarch succession 7
Compare the pioneer species and climax communities of hydrarch and xerarch
succession respectively.

List the factors upon which the type of invading pioneer species depend in
secondary hydrarch succession, Why is the rate of this succession faster than that

of primary succession 7
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: ' pur
mplete ﬂﬂ-r[linﬂﬂﬂc and co-dominance. Substantiate y
answer with one example of

each.,

DR the genetic
: fentists: i iphering
(2)  Write the contributions of the following scientists in decip
code,

1 ; Ochoa
Georce Gamow : Hargobind Khorana ; Marshall Nirenberg ; Severo
: S o
(b)  State the importance of a Genetic code in protein biosynthesi
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